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INTRODUCTION 


Q  1	Please summarize how the various parties’ RCS credit proposals conform to the Commission’s guidelines enunciated in Decision 97-05-039.


A  1	In Decision 97-05-039, the Commission directed that credits for RCS performed by other parties be based on the utilities’ net cost savings.  PG&E believes the Commission’s intent was that the RCS credits received by customers in 1999 match, as closely as possible, the utilities’ actual avoided costs in 1999, net of any increased costs caused by provision of RCS by ESPs.  PG&E’s RCS credit proposal adheres to this principle.


ORA, TURN, Enron, and Cellnet claim that PG&E’s RCS credits are too low, for various reasons, but none of these parties establish that their RCS credit proposals reflect the costs that the UDCs will actually save in 1999.  


Q  2	How should the Commission decide this case?


A  2	PG&E believes that the Commission was correct in promulgating its “net cost savings” standard in Decision 97-05-039, and should adhere to that standard.  Consequently, it should reject the intervenors’ revenue cycle service (RCS) credit proposals which would produce RCS credits larger than PG&E’s net cost savings.  If, however, the Commission determines that it has such an overriding interest in promoting entry to the RCS market that it is willing to set RCS credits at a higher level than PG&E’s net cost savings, then it must mitigate the revenue loss for PG&E.  This is especially critical given the Commission’s affirmation that the utilities will remain default service providers.  This obligation, which is unique to the utilities, results in an “unlevel” playing field.  Thus, the Commission should consider ways to compensate PG&E shareholders for a decision to artificially stimulate market entry by increasing RCS credits beyond PG&E’s net cost savings.  PG&E addresses possible mitigating options in Chapter 4 of this rebuttal testimony.


Q  3	How is the remainder of your testimony organized?


A  3	The rest of my testimony will address the following major areas:  First, I will review the basis for RCS credits and the goals of this proceeding.  Next, I will address the fully allocated cost method proposed by Enron and Cellnet, and use of the 100 percent market penetration assumption.  I will demonstrate that these methods overstate cost savings, do not provide appropriate price signals, and are inconsistent with Commission policy.  Finally, I will address the arguments of Enron and TURN against geographic segmentation.


The Goal For The Revenue Cycle Services Proceeding


Q  4	Does Enron’s stated objective for this proceeding conflict with the goal of an efficient market?


A  4	Yes.  Enron’s “over arching goal in this aspect of the restructuring proceeding has been and continues to be to achieve a competitive market for the RCS” (Enron, p. 4).  To achieve that goal, Enron believes that credits should be set high enough to create an incentive for ESPs to enter the market:


Finally, it (Enron’s fully allocated cost proposal) will provide a meaningful credit to ESPs to enter the market and make investments based on the actual cost of providing RCS.  (Enron, p. 2)


Q  5	What should be the Commission’s goal for unbundling revenue cycle services?


A  5	To the extent services are unbundled, the Commission should strive to create conditions for an efficient market; that is, conditions that enable the market to produce and distribute revenue cycle services at the lowest possible cost and to charge consumers prices consistent with these costs.  


The Commission did, in fact, implicitly adopt the goal of an efficient RCS market, in Decision 97-05-039, when it directed that credits for RCS performed by other parties be based on the utilities’ net cost savings.  Careful adherence to this principle is exactly what is required for efficient competition to develop.  


It is important to recognize that ESP entry in itself does not imply a competitive market.  A competitive market is characterized not only by the entry or potential entry of multiple firms, but also by firms acting in response to accurate price signals.  In contrast, artificially induced ESP entry in response to inflated credits does not represent a competitive market, and consequently can harm economic efficiency.


Policies For The Cost Methodology


Q  6	Has the Commission identified the basis for credits in this proceeding?


A  6	Yes.  In Decision 97�05�039, the Commission clearly and unequivocally directed that credits be based on the utilities’ net cost savings when RCS are provided by other entities.  


We will direct the administrative law judge in our unbundling proceeding to set a schedule for separately identifying the net cost savings resulting from a customer’s election to receive certain revenue cycle services from another service provider.  (p. 18)


No later than November 3, 1997, PG&E, SDG&E, and Edison shall file, in our unbundling proceeding, cost studies and supporting testimony that separately identifies the net cost savings resulting when billing, metering, and related services are provided by another entity… (Ordering Paragraph 5) (emphasis added)


Q  7	Do some parties recommend setting credits at a higher level than the UDCs net cost savings for 1999?


A  7	Yes.  Enron recommends that credits be based on an assumed 100 percent ESP market penetration, an event which no one claims can occur in 1999.  Furthermore, Enron and Cellnet recommend credits based on fully allocated costs.  Again, no party has established that fully allocated costs accurately reflect PG&E’s net avoided cost in 1999.  Both of these proposals would, if adopted, inflate the RCS credits well above PG&E’s net avoided costs.


Q  8	What are the consequences for ESPs, their customers, remaining utility ratepayers, utility shareholders, and society in general if the Commission were to adopt RCS credits larger than the utilities’ net cost savings.


A  8	The ESPs would be encouraged to enter the market.  For example, if the UDC can save $5 when an ESP provides an RCS, but is required to give a credit of $10, an ESP whose cost to provide the service is $7 can profitably enter the market.  The difference between the utility’s $5 savings and the $10 credit is a cost which must be shifted either to the remaining utility ratepayers, or to the utility shareholders.  The total cost to society for providing revenue cycle services has increased.  


Fully Allocated Costs


Q  9	What is Enron’s recommended methodology for estimating revenue cycle service credits?


A  9	Enron recommends fully allocated costs:


It is, therefore, Enron’s proposal that the RCS credits developed in this proceeding reflect the fully allocated costs.  (Enron, p. 2)


Q  10	Did Enron perform a long-run marginal cost study in order to estimate RCS credits?


A  10	No.  Enron apparently believes that fully allocated costs are a reasonable proxy for long-run marginal (or long-run incremental) costs:


Thus, recent embedded costs are an appropriate starting point for estimating long-run incremental costs.  (Enron, p. 10)


Q  11	Does PG&E agree that fully allocated or embedded costs is an appropriate starting point for estimating long-run marginal costs of revenue cycle services?


A  11	No.  There is little, if any, relation between embedded costs� and marginal costs.  Marginal costs measure the change in resource costs caused by increasing or decreasing the volume of service.  Marginal (or incremental) costs are forward�looking economic costs that are based on the principle of cost-causation.  In contrast, fully allocated costs are based on an allocation of costs that have already been incurred.  


Moreover, embedded or fully allocated cost methods fail to recognize the presence of joint or shared costs.  


Q  12	Can you provide a simple example of the proposition that fully allocated cost methods fail to recognize shared costs?


A  12	Yes.  Consider that a UDC has a single cost element—meter readers—and two services (reading five electric meters and reading five gas meters).  Joint costs represent costs that are incurred to provide both services, and cannot be separated.  In this case, joint cost is walking from the sidewalk to the first meter at a dual commodity site.  The volume sensitive cost, which is avoided by not doing one activity, is reading the meter.





Figure 1


�


In this example, the average cost is 5 but the marginal cost is less—it is 3.  In other words, the presence of joint costs invalidates the assumption that average cost equals marginal cost.  In terms of cost avoidance, the joint cost can only be saved by the UDC if both meters are read by someone else (see diagram below).





Reading Electric Meter�Unit Cost = 15/5 = 3�
�
Read Gas Meter�Unit Cost = 15/5 = 3�
�



Walk to First Meter�Joint Cost = 20�
�



Consider a somewhat more complicated example.  In the second example, there are four services:  


Read Electric Meter, 


Read Gas Meter, 


Meter Services (O&M) 


Distribution (“Wires and Pipes” (see diagram below)).  


As in the first case, there are joint costs related to walking from the sidewalk to the first meter.  Suppose an ESP is willing to read both the gas and electric meters but not provide [distribution] or meter services.  In this case, the UDC can save the time to read both the electric and gas meters.  It can also save the time to walk from the sidewalk to the first meter (i.e., the joint cost for this site).  However, regardless of who reads the meters, the UDC must continue to account for revenues and pay taxes and franchise fees to the appropriate government entities.  





Read Electric Meter�
�
Read Gas Meter�
�
Meter Services�
�
“Wires and Pipes” Service�
�



Joint costs: (e.g. walk from sidewalk to meter)�
�
�
�



Common Costs (e.g. Tax Department)�
�
The fully allocated approach would include all of the joint and shared costs even when some of the activities are not avoided such as the costs of the Tax Department in the above example.  Common costs, such as administrative and general expenses, general and common plant, are unrelated to cost savings caused by a change in the volume of a particular revenue cycle service offered.  


Q  13	Enron and Cellnet (Cellnet, p. 10) have argued that fully allocated cost credits should be adopted because they are consistent with costs bundled in distribution rates.  Are there problems with this approach?


A  13	Yes.  Although fully allocated cost based rates may reflect historical responsibility for cost incurrence, fully allocated costs do not provide a measure of what will happen to costs in the future if PG&E no longer provides a revenue cycle service.  Consequently, including historical costs in the RCS credits is inclined to overstate UDC savings from RCS services and result in an inefficient market.  PG&E recommends that the Commission reject the fully distributed cost methodology.


Moreover, as CLECA/CMA has noted, credits based on embedded costs result in a mismatch between the assignment of costs for credits and the allocation of costs in bundled rates based on LRMC (CLECA/CMA, p. 11).


Q  14	Is there support in the economics literature for the assertion that fully allocated costs can be used to approximate savings?


A  14	No.  The economic literature opposes the use of fully allocated costs for economic decisions.  Below is a quote from a prominent text on electric industry restructuring:


“Fully allocated cost figures and their corresponding rate-of-return numbers have no economic content.  They cannot pretend to constitute approximations to anything.  Any claim of ‘reasonableness’ for a particular basis of cost calculation is irrelevant, except to the success of the advocates of those particular figures in deluding others about the defensibility of the numbers.  There can be no excuse for regulators to make vital economic decisions on the basis of calculations that are, at their best, random, and, at their worst, fully manipulable.”  (Baumol and Sidak, 1995, Transmission Pricing and Stranded Costs in the Electric Power Industry, p. 64, emphasis in original).


100 Percent Market Penetration Assumption


Q  15	What market penetration assumptions are proposed by intervenors?


A  15	Enron assumes a 100 percent penetration based on the assertion that “either UDC’s or an affiliate will provide revenue cycle services on an unbundled basis for the UDC’s bundled customers” (Enron, p. 10).


Similarly, ORA appears to support the 100 percent market penetration assumption used by SDG&E (ORA, p. 10).


Q  16	Is this a plausible assumption?


A  16	No.  Although PG&E cannot say with certainty what market penetration will ultimately occur, experience in other sectors suggests deregulation is a gradual process.  For example, experience in the long distance telephone business indicates that AT&T did not lose 100 percent of its former market share.  Furthermore, Enron has stated that it will no longer compete for residential customers in California.  For PG&E, residential customers account for approximately 87 percent of accounts.  


Q  17	Is there a better approach for estimating market penetration?


A  17	Yes.  Rather than basing the credits on practically impossible assumptions such as 100 percent ESP market share, a better approach is periodic updating based on market experience, as proposed by CLECA/CMA.


The best procedure would be to establish a robust avoided-cost methodology that is updated periodically either as a function of time or as a function of some other indicator, e.g., some measure of ESP market share.  This properly balances the ESPs’ interests in obtaining the maximum credit level with the ratepayers interest in avoiding subsidies to ESPs and cost shifting between customer classes.  (CLECA/CMA, p. 4)


The Utility Obligation To Serve


Q  18	Does PG&E’s obligation to serve affect market penetration?


A  18	Yes.  The Commission has made it clear that utilities retain their obligation to serve:


The idea of the UDC serving as the default provider is to ensure that everyone is provided with electricity, because electricity is an essential commodity.  Anyone who pays for the service should be allowed access to it.  Accordingly, the UDC shall be obligated to serve any customer who no longer engages in direct access.  (D.97�05-040, p. 49)


It is unreasonable to assume there will be 100 percent market penetration by ESPs as long as PG&E retains an obligation to serve.  PG&E must maintain the capability to provide RCS to all segments of its current market.  It cannot abandon service to high-cost market segments, nor assume a high level of penetration by ESPs until demonstrated by the market.


Q  19	Are there other aspects of the obligation to serve that can affect the credits?


A  19	Yes.  Three aspects of the obligation to serve could result in inflated credits if they are not addressed:  (1) minimum service requirements (for example, answering telephone calls within a specified amount of time), (2) services offered by the UDC but not by the ESP (for example, “front counter” bill payment opportunity for customers), and (3) ubiquitous service requirements (for example, everything from low cost urban meter reading to high cost rural meter reading).  Conceptually, a credit is intended to represent the UDC’s savings resulting from reducing or eliminating activities.  The credit can then be used to offset the cost of a similar set of activities provided by an ESP. 


While the UDC would be required to meet the obligations of service, the ESPs have more latitude in who they will serve and under what conditions.  As a result, the set of activities that the ESP provides may be significantly different and potentially cheaper than the activities that the utility provides.  Thus, a fully allocated cost credit may include costs for a service that the ESP does not provide (for instance, rural meter reading), and the credit will be overstated.  To date, Enron has not indicated how the UDCs obligation to serve should be factored into the credit calculation.


GEOGRAPHIC SEGMENTATION


Q  20	Enron, TURN and Cellnet have all opposed geographic deaveraging of revenue cycle credits.  What is PG&E’s response?


A  20	PG&E believes the Commission has recognized that geographic deaveraging may promote more efficient pricing:


We recognize that geographic deaveraging may promote more efficient pricing.  Under the existing LEC rate structure which is based on statewide averages, retail rates do not reflect the costs of serving different geographic regions.  Once LEC rates are geographically deaveraged and prices are allowed to more closely match costs of service, CLCs will have a greater incentive to enter new geographic markets [high cost areas] which were not previously cost effective to serve.  Thus, geographic deaveraging should increase rather than constrain competition.  CLCs will be encouraged to enter a geographic market if they can offer a more competitive price than the LEC.  While we agree that allowing geographically cost-based prices may be necessary in a competitive environment, statewide average rates must remain in place for LECs for the present and until relevant cost studies by relevant geographic region have been completed and approved.  (D.96-03-020, p. 65)


A complete discussion of PG&E’s position can be found in Exhibit 4, pages 1�SJB-1 to 1-SJB-3.


Conclusion


Q  21	What is your conclusion regarding RCS credit methodology?


A  21	To summarize, proposals that use the fully allocated cost methodology and the 100 percent market penetration assumption and that disregard the utilities obligation to serve or disregard opportunities to use de-averaged credits will overstate PG&E’s cost savings when RCS are provided by other entities.  Implementing this methodology will yield credits that (1) are inconsistent with Commission policies established in Decisions 97�05�039, and 96-03-020, (2) result in higher total RCS costs, and (3) shift costs to other ratepayers or shareholders.  PG&E’s methodology avoids these problems.  


�	For this discussion, PG&E uses these definitions.  Embedded costs are the total, current costs of a UDC including operation and maintenance expenses, taxes, depreciation and return on historical investments, and common or shared costs.  Fully allocated cost includes an allocation or assignment of the total costs of the firm to products and services such that the total cost of the products and services equals the total cost of the firm.  Average cost is the total cost of the firm (or of products or services) divided by the output of the firm (or product or service).
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